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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

76.

77.

78.

79.

80.

81.

82.

83.

84.

8S.

86.

87.

A: What courses did you take last semester?
B: I took physics, English, and literature last semester, and the physics course was

--------------------------

1) best 2) good 3) the best 4) better than
Which sentence is grammatically correct?

1) What will you do if you find much money?

2) What did you do if you found much money?

3) What will you do if you found much money?

4) What would you do if you find much money?

There are many new houses belonging to the low income employees. They .....................
at a high cost since 4 years ago.

1) built 2) have built 3) were built 4) have been built
Which of the following sentences is grammatically wrong?

1) The lions I saw in the zoo last week were dangerous.

2) The lions that I saw in the zoo last week were dangerous.

3) The lions which I saw in the zoo last week were dangerous.

4) The lions which I saw them in the zoo last week were dangerous.

The government should increase the quality of ......................... products of different
kinds because most people are trying to look for very good products.

1) generous 2) emotional 3) domestic 4) creative

Hamed has decided to .........cccevvennnenn.. his job because the company doesn’t give him
enough money and also he says that living costs are high these days.

1) look up 2) give up 3) make up 4) pick up

If one’s son steals money from his parents, this can become a habit, so a habit can easily
turn into an .......cccevvevineinnnnnne most of the time.

1) addiction 2) attraction 3) emotion 4) experience

There is a very large store near our house and most people are interested in buying
there because the store gives them good ............cccuveeennn.. most of the time.

1) suggestions 2) collections 3) discounts 4) customs

Ferdowsi was born in a village near Toos in Mashhad. He wrote thousand verses of
poems several hundred years ago. He is known as a .........ccccevieiinnnens poet in Iran and
also he is best remembered for his poems.

1) public 2) relevant 3) responsible 4) distinguished

Do you -—--—--—--- believe that there is much water on other planets in the universe? No, I
don’t think so.

1) effectively 2) actually 3) rapidly 4) widely

I highly ...cccovvvvinnninnnnn.n. you to use a good monolingual dictionary because it gives

you a lot of information about words such as spellings, pronunciations, parts of speech,
definitions, etc.

1) regard 2) arrange 3) suppose 4) recommend
The man is very rich and generous in our city. He always gives money to poor people
and also he has ...........ccooeeveeenee. two high schools since ten years ago.

1) deserved 2) founded 3) respected 4) appreciate
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Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Bacteria cause many of the illnesses that affect humans, so for years scientists tried to find a
substance that would kill bacteria but would not harm human tissue. The Scottish bacteriologist,
Alexander Fleming (1881-1955) was the first person to (88) ..........cccevviininnn. an antibacterial
substance. Fleming carried out his (89) ..................oi.. in a laboratory at Saint Mary’s
Hospital, London in England. In 1928, Fleming noticed that a mold that had accidently (90)
......................... on a dish of bacteria culture caused the bacteria to die. In 1941, the researchers,
Howard Florey and Ernst Chain purified the (91) ..................oo.o0l. , penicilium, to produce
penicillin, the world’s first antibiotic. Penicillin is widely used in the (92) ......................... of
many diseases, including meningitis and pheumonia. Fleming shared the 1945 Nobel Prize for
Medicine with Florey and Chain.

88. 1) identify 2) combine 3) consider 4) express

89. 1)skill 2) device 3) benefit 4) research
90. 1) concluded 2) depended 3) developed 4) organized
91. 1)ant 2) mold 3) worm 4) snail

92. 1) treatment 2) development 3) destruction 4) experiment

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questiosn. Answer the questions by choosing the best choice (1), (2), (3), or (4).Then mark
our answer sheet.

Passage 1:
Television, the modern wonder of electronics, works in much the same way as radio. In radio,

sound is changed into electromagnetic waves which are sent through the air. Experiments leading to
modern television took place more than a hundred years ago. By the 1920s, inventors and
researchers had turned the early theories into working models. Yet it took another thirty years for
TV to become an industry.

The influence of TV on the life of people is incalculable. It can influence their thoughts and their
ways of life. It can also add to their store of knowledge. Educational TV stations offer teaching in
various subjects. Some hospitals use TV for medical students to get close - up views of operations.
At first, television programs were broadcast in black — and — white. With the development of
science and technology, the problem of how to telecast them in full was solved, and by the middle
1960s, the national networks were broadcasting most of their programs in color.

The programs that people watch are both local and national ones. Since the launching of the first
communications satellite, more and more programs are telecast “live” from all over the world.
People in San Francisco were able to watch the 1964 Olympic Games in Tokyo. And live telecasts
now come from outer space. In 1969, the first astronauts to land on the moon televised their historic
“moon walk” to viewers on the Earth. Since then, astronauts have regularly sent telecast to the
Earth.

93. Television is said to be the modern wonder of electronics, because ........ccceevveennennne. .
1) it works well like a radio
2) it makes people see farther
3) it influences people’s way of life
4) it brings the world into people’s own home in sight and sound.
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94. The development of science and technology made it possible for ...........c.ccceenveeee. .
1) people to be telecast in San Francisco
2) educational programs to be taught well
3) astronauts to be telecast in black — and — white
4) television programs to be telecast in full color
95. The communications satellites made people..........ccceuvvennnn.n. .
1) watch space programs and the Olympic Games on TV
2) watch so many programs on TV from across the world
3) watch both local and national programs on TV
4) watch teaching programs in different subjects
96. The word “incalculable” underlined in paragraph 2 is closest in meaning to ............. .
1) very strange 2) very distant 3) very great 4) very small

Passage 2:
One of the world’s most serious problems is the use of child labour. Child labour refers to the

employment of children in any work that prevents children from their childhood, interferes with
their ability to attend regular school, and is mentally, physically and socially dangerous and
harmful. June 12 is the World Day against child labour. All around the world, people will take part
in activities to raise awareness of the damage child labour does to children, families and societies.
The day is also one on which the world promotes the human rights of children. The United Nations
set out in its Millennium Development Goals a number of targets to help prevent child labour. By
2018 it hopes all children complete their primary education. To do this, government must take
actions to reduce poverty and provide enough jobs for adults. These are the two main reasons why
we have child labour today.

The International labour Organization estimates that there are over 250 million children worldwide
who work in some kind of labour. Eighty percent of these, around 200 million, work in dangerous and
hazardous conditions. A senior UNICEF spokesperson on child protection said “child labour is a
widespread phenomenon all over the world”. When that work stands between a child and his or her
chances for education, or affects his or her health, then we consider this a violation of the rights of
children. There are many terrible forms of child labour. These include working in dangerous mines
deep below the ground and factories with dangerous smoke.

97. Child labour causes children not to ...........cccceeuveeen... .
1) attend regular school and want to learn something
2) prevent from doing any work whenever necessary
3) promote the human rights in different conditions
4) work hard in different dangerous conditions
98. What is the best title for the passage?
1) the world Day against child labour 2) employment of children
3) labour organization 4) child labour
99. We understand from the above passage that ......................... .
1) the United Nations help to increase child labour
2) there 1s a relationship between adult’s unemployment and child labour
3) there are over 250 omillion children working in dangerous conditions
4) people around the world will take part in activities to raise child labour
100. According to the passage, which of the following statements is Not true?
1) The United Nations wants to help prevent child labour.
2) There are many terrible forms of child labour in the world.
3) Child labour organizations seldom consider the violation of the rights of children.
4) By 2018, it hopes that all children complete their primary eduation.
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